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Jyotiba Phule was associated with
(a) Civil Disobedience Movement
(b) Trade Union Movement

(c) Anti-caste Movement

(d) Peasant Movement

Which two of the following States are the leading
producers of Iron-Ore in India as per the Annual
Report of the Ministry of Mines 2020-21 ?

1. Odisha

2. Chhattisgarh

3. Jharkhand

4. Kamataka

Select the correct answer from the code given
below :

Code :
(a) 2and 4 (b) 1and 4
(c) l1and 3 .{ (d) land2

According to ‘“World Happiness Index — 2022
what is the rank of India ?

(a) 136 (b) 110"
(c) 140% (d 130"

Match List — I with List — IT and select the correct
answer from the code given below the lists.

List - 1 List - II
(Building) (Builders)
A. Sultan garhi 1. Alauddin Khilji

B. Red Palace . Qutbuddin Aibak
C. Jamat Khana Masjid / 3. ltutmish

D. Dhai Din Ka Jhop 4. Balban
Code :
A B CD
@3 4 1 2
®3 4 2 1R
4 3 1 2
d4 3 2 l’f

Which of the following trees is dangerous for
environment ?
(a) Neem
(c) Babool

(b) Eucalyptus
(d) Banana
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10.

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : During the 20t century, poverty
and poor people have become the subject of our
concern and duty.

Reason (R) : Strategically there was lack of
targeted actions due to which this issue got
momentum.

Select the correct answer from the code given
below :

Code :
(a) (A) is false but (R) is true
(b) (A) is true but (R) is false
(c) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)
‘Who among the following has won the women'’s
single title in the Sye Modi International
Tournament held in January 2022 ?

(a) Ashwini Ponappa (b) Jwala Gutta
(c) Saina Nehwal (d) P.V. Sindhu

Dichloro-diphenyl-trichloroethane (DDT) is

(a) Non-pollutant

(b) Non-biodegradable pollutant
(c) Biodegradable pollutant

(d) Biochemical pollutant

With reference to 45™ World Bridge
Championship which of the following
statements is/are correct 7

1. The Championship was held in Italy.

2. Indian Team won silver medal in the game

for the first time.
Select the correct answer from the code given
below :

Code :
(a) Neither 1 nor 2 (b) Both1and2
(c) Only 2 (d) Only 1

:ch one of the followin Watershed
Lo i edgby the Central

Development Projects sponsor :
Government of India which aims at enabling the
rural population to conserve the water ?

(a) Jal Kranti

(b) Pani Sansad

(c) Hariyali ¥

(d) None of the above N
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12.

13.

14.

15. Arrange the following countries O
‘Human Development Index 2022’ in descending

When the Environment (Protection) Act for the
protection and preservation of environment was
passed by the Government of India ?

(a) 1971 (b) 1974

(c) 1981 (d) 1986

Right to Education has been included into the
Fundamental Rights by the
(a) Constitution (103" Amendment) Act, 2019
(b) Constitution (93™ Amendment) Act, 2003
(c) Constitution (86th Amendment) Act, 2002
(d) Constitution (71% Amendment) Act, 1992
With reference to valuable L.T. Brands, which of
the following statements is/are correct 7
1. ‘Accenture’ is the most valuable
Worldwide LT. Brand in 2022.
2. T.C.S. is No. 2 in global L.T. Services
Brands in 2022.
Select the correct answer from the code given

below :

Code :
(a) Neither 1 nor 2 (b) Both 1 and 2

(c) Only 2 (d) Only 1
Which one of the following pairs is NOT correctly
matched ?
State Members in the
Legislative Assembly
(a) Manipur - 463

(b) Goa -
(c) Uttar Pradesh - 403 p
- 70 ¢

(d) Uttarakhand
n the basis of

order.
Country

1. Japan

2. Russia

3. Hong Kong
4. Australia

Select the correct answer from the code given
below :

Code :

16.

17.

Which one of the following river basins i
largest in respect to arca ?

1,2,4,3
4,1,3,2

@

@232
s the

(b) Narmada

(a) Tapti *
(d) Cauvery™f

(c) Mahanadi

Thermodynamically the most stable form of

carbon is
(a) Coal
(c) Graphite

(b) Fullerenes
(d) Diamond
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13.

14.
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18. Which one of the following is correctly matg
- ?

19.

20.

21.

22,

(a) Radhaswami Satsang

(b) Bharat Dharma Mah - Lahore
(c) Sanatan Dharma ahamandal — Delhi
Rakshini Sabha = Calcutta
(d) Deva Samaj &
= anaras

Which among the followin
. e co H
main constituent of natural gas ?mPOunds is the

(a) Butane (b) Hexane
(c) Benzene (d) Methane

Which of the following coasts i :
energy producing areagin Iﬁ?ﬁ?mc e
(a) North Circars Coast

(b) Mannar Coast

(c) Khambhat Coast

(d) Kerala Coast

Match List — I with List — II and select the
answer from the code given below the lis(:.«(-,).lT °t

List-1 List - II
(Plant disease) (Factor)
A. Citrus Cracker . Insect
B. Red rot disease of . Deficiency of
sugar cane oxygen
C. Krishnakant . Bacteria
disease of potat
D. Sahu disease . Fungus
of wheat
Code :
A B C D
(a) 4 1 3 2
(b) 1 3 4 2
_{p)’ 3 4 2 1
d 1 2 3 4
Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R).
Assertion (A) : Agra and Darjeeling are located
on the same latitude but temperature of January
in Agra is 16° Centigrade whereas it is only 4°
Centigrade in Darjeeling.

Reason (R) : Temperature decreases with height
and due to thin air, places in the mountains are
cooler than places in the plains.

Select the correct answer from the code given

below :

Code : .

(a) (A)is false but (R) is true

(b) (A) is true but (R) is false ' .

(c) Both (A) and (R) are true but (R) is not the
correct cxplanation of (A) .

(d) Both (A) and (R) are trué and (R) is the
correct explanation of (A)
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23. With reference to Chandragupta — II, which of
the following statements is/are correct ?
1. Thestrongest evidence in the context of Shaka
Victory is the silver coins of this King.
2. The weight of these coins used to be about
33 grains.
Select the correct answer from the code given
below :
Code : _
ga) Neither 1 nor 2 gb) Both 1 and 2
c¢) Only 2 d) Only 1
24. A Joint Public Service Commission for two or
more States can be established by
(a) Union Public Service Commission
(b) Parliament, if requested by concerned
States
(c) Rajya Sabha +
(d) Lok Sabha $
25. Match List - I with List - II and select the correct
answer from the code given below the lists.
List -1 List - IT
(Day) (Event)
A. April 18 . International Tiger Day
B. May 2 2. World Heritage Day
C. July 29 . World Soil Day
D. December 5 . International Day of
Biodiversity
Code :
A B CD
@4 3 2 1
1 2 3 4
)2 4 1 3
@3 2 1 4
26. With reference to the ‘India Smart City Awards
Contest — 2020’ that was given in April 2022,
match List— I with List — II and select the correct
answer from the code given below the lists.
List -1 List - II
(Category) (Winner City)
A. Culture 1. Vadodara
B. Governance 2. Indore
C. Social Aspects 3. Bhopal
D. Urban Environment 4. Tirupati
Code:
A B C D
@2 1 3 4
2 1 4 3
1 2 4 3
@1 2 3 4
27. The first airport powered by solar energy in

India is
a) Chennai
c¢) Ahmedabad

Cochin
New Delhi

@
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28. 'Whoamong the following was the winner of Miss
World - 2021, which was held in March 2022 in
Puerto Rico ?

(a) Olivia Yace
(b) Karolina Bielawska
(c) Sri Saini
(d) Toni-Ann Singh
29. L.B.S.is one of the economic measures taken by
the Government of India for financial inclusion.
What is L.B.S. in this context ?

(a) Lead Breaking System
(b) Lead Banking Scheme
(c) Loan Banking System
(d) Loan Banking Scheme

30. The bacillus haemophilus influenza causes

(a) Whooping cough
(b) A form of meningitis in young children
(c) Pneumonia

(d) Influenza 4
31. Which of the following mountain ranges are in
the Himalayan mountains ?
1. Cho Oyu
2. Lhotse
3. Annamalai
4, Sirumali

Select the correct answer from the code given
below :

Code :

(a) Only 2,3and 4 %

(b) Only 1,2and3 T

(c) Only 3 and 4 7}

(d) Only 1 and 2

32. Withreference to Budget of Uttar Pradesh for the
Financial Year 2020 —21, which of the following
statement(s) is/are true ?

1. The size of the budget was Rs. 5,12,860.72
crores.

2. Certain new schemes were also included
in this budget amounting to Rs. 10,967.87
crores.

Select the correct answer from the code given
below.

e:
(a; Neither 1 nor2 (b) Both 1 and 2
(c) Only 2 (d) Only 1

28.

29.

30.

31.

32.
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33.

34.

35.

36.

Match List — I with List — IT and select the correct
answer from the code given below the lists.

List=1 List - II
(Philosopher) (Philosophy)
A. Ramanuja .. 1. Suddhadvait
B. Madhavacharya | 2. Dvaitadvait

C. Nimbarka 3. Dvaita
D. Vallabhacharya . Vishishtadvaita
Code :
A B C D
@ 2 4 1 3
®d 3 1 4 2
c© 1 2 3 4
d 4 3 2 1

Given below are two statements one is labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : Phytoplankton grow in abundance
in the limnetic zone.

Reason (R) :
zone.

Select the correct answer from the code given
below :

Code :

(a) (A) is false but (R) is true

(b) (A) is true but (R) is false

(c) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

Limnetic zone is open water

With reference to India which of the following
statement(s) is/are correct ?
1. India is the sixth largest country of the
world.
2. India occupies about 2.4% of the total area
of the world.
3. Tro ic of Cancer passes through the
iddle of the country dividing into two
latl tudinal halves.
4. India lies completely in tropic zone.

Select the correct answer from the code given
below :

Code:
(a) 2 and 3 (b) 2and 4 +
(c) 3 and 4 (d) land2 $

Which of the following Wildlife Sanctuaries of
U.P. was established in 1975 ?

(a) Chambal (b) Katarniaghat
(c) Raipur (d) Kishanpur

34.

35.
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37. Theconcept of ‘Basic Structure

38.

39.

of the Constitution’
me Court in the cage

of
Keshvanand Bharti v:
(a) e 1o Vs State of

(b) Golaknath vs State of

(c) Chitralekha vs State of Mysore — 1964

(d) Yusuf vs State of Bombay - 1954

Consider the following events and arrange them
in chronological order.
L. The foundation of Gadar Party |

II. Chittagaon Armoury Raid

ML Set up of the ‘Indian Independence
Committee’ at Berlin 1

IV. Central Assembly Bomb Case
Select the correct answer from the code given
below :
Code :

(@ OLLIVand I+ (b) I II, IV and IT

() LILODand IV (d) I, I.IIandIV7,_

Match List — I with List — IT and select the correct
answer from the code given below the lists.

was propounded by the Supre,

Punjab — 1967

List -1 List - II
(Person) (Concerned with)
A. M. S. Swaminathan 1. Social control on
Banks
B. L.K. Jha . Milk Production
C. Verghese Kurie 3. Green
Revolution
D. Morarji Desai 4. Economic
Administration
Reforms
Code :
A B C D
(@ 4 1 3 2
) 2 3 4 1
() 3 4 2 1
d 1 2 4 3

Which two of the following are correctly
matched ?

Tribe State

1. Keria — Odisha

2. Kuki — Uttar Pradesh

3. Yanadi — Rajasthan

4, Paliyan — Tamil Nadu .
Select the correct answer from the code given
below :
Code :

(a) 3and 4 (b) 1and 4

(¢) 2and 3 (d) 1and2

37.

38.

39.

PCUX-1-22

“wferm ) g g’ ) SrETn wEed AR
T fore arg & wfwfea A 4 ¢

(a) A A oW He T - 1973 #
(b) TiETHATY T Yo" TSE - 1967 A

(c) Fereran w=m AT U= - 1964 ®

(d) IS wI w7 T - 1954 H
frafafen wenat w fram R o T
FHICHATER syaftda AR |

I Tex ardl i ware

II. faents yEmm s

. =f¥f= & ‘saw sada =& 6 e
IV. ¥5a Tawch a9 #0g

= A M 52 ¥ vl sm T = AR

L TN
(@ OLLIVaw () LOLIVdawIl
(¢ LILOwwlv (d) OLLOdwIV

T - 19 g - 1@ gifers Hifed 7w gt &

A2 A F2 ¥ Tt s F T\ AR |
qft-1 gat-1
(=afE) (TG /wvau)

A WEErTEE 1. 6 w ek

Fra=m

B. Tt %. 1 2. g9 I

C. ffa i 3. i@ wif

D. HRwsh 2@ 4. Nt yemE gun

He:

A B C D

(a) 4 1 3 2

® 2 3 4 1

© 3 4 2 1

@ 1 2 4 3

i a SN A adt gufem & ¢
A L

1. S - onfem
2. T — IW W
3, A - TS
4. TRE™ - g

A2 R R F2 ] W IW w9 AR |

L

(a) 37U 4 (b) 174

(c) 27w 3 (d) 132
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41. Given be!ow are two statements, one is labelled | 41. fi= & Fud foa m § R & @& 9
as Assertion (A) and the other as Reason (R). a1 A % T (R) & TR | (4
Assertion (A) : Chile is the leadi oducer AR (A) :
of copper in the world. s L A 2 (IA) : fora  foeft ot BL (]
Reason (R) : Andes Region of North Chile is ;
enriched with the largest deposites of Porphyry ®UI (R) : 300 Fefl 1 ofew Ry o §
copper. e f&9 @ = R |
g:llect the correct answer from the code given R f T $2 4 gdl I F 97 Fifty
ow : '
%e:
Code:
@) (A)is false but (R) s true o (i) W; Ty Ry 3
(b) (A) is true but (R) is false o (:) ﬁ q?ﬁ(m "ga .
(c) Both (A) and (R) are true but (R) is not the ©) (AT R) I 79 I R), (A) B g
correct explanation of (A) s ¢ = §
(d) Both (A) and (R) are true and (R) is the (d) (A) 7 (R) QF1 & & 3R (R), (A)
correct explanation of (A) ST T R
42. ‘Poverty is regarded as a social problem’ which | 42. ‘Frd=an @I o wmiek wwEn wF ™ R S R
was the outcome of a survey research on poverty in T # P = Rl T o i wdem 5 o
London. Who was the Scholar of this research ? RS NuefiwF & ¢
(a) Sir Henary Maine (a) & 0 W
(b) Henary George (b) ¥ It
(c) Kingsley Davis (c) frm=r 2fem
(d) Charles Booth (d) wTed 9
43. Who among the following had translated | 43. i # A fored fmmtr wg g i w0
Chintamani Bhatt's Sanskrit text ‘Suka Saptati’ T ‘Y gafa’ 1 GRE F A W WA W
in Persian and gave it the title ‘Tutinama’ ? @ ?
(a) Khwaza Ziya-uddin Nakhshabi (a) T Ran-3dw Teufa
(b) Abdur Razzak (b) e TITH
(c) Shihabuddin-al-Umari (c) PrEgda-a@-3uft
(d) Amir Khusro (d) Infr gw
44. Match List—I with List— Il andselect the correct | 44, gt — 1% gt — 11 @ giftra Hifnd o ¥l 3
answer frolr:u ist:'c i:ode given belol\flstltw lli?ts. 9 A W §2 At I gFw |
(Yojna/Programme) (Ii(aunfhlng gt -1 qt- 1:‘)
ear
A. National Rural Health I 1995 (AT /RisRR) i
M?gggn e A. T T @ faem 1. 19%
ram .
. gwagm)a%ﬁ_cmm \3, 2001 C. T SRt I TR AT 2 fg‘g’;
D. Sﬂl?lmpég?ll;a gﬂ;een Rojgar ‘4. 1999 D. vk e
Yojna e
Code : A BC D
A C D
@4 2 1 3 (a4 2 1 3
M2 1 4 3 2 1 4 3
c)2 4 1 3 2 4 1 3
@1 2 3 4 @1 2 3 4
B -10-




45. At which one of the following place, the World

47.

49.

50

Health Organisation (WHO) is goi or
Global Traditional Medicine Corg e
(a) Johannesburg (South Africa)

(b) Jaffna (Sri Lanka)

(c) Haridwar (India)

(d) Jamnagar (India)

Photo chemical smog always contains

(a) Phosphorus  (b) Ozone

(c) Methane (d) Aluminium ion

Which of the following statements about
Lata Mangeshkar is/are true ?
1. She was the first Indian artist ever to
perform live at London’s Royal Albert Hall.
2. She made her debut on the International
stage at London’s Royal Albert Hall.

Select the correct answer from the code given
below :

Code :
(a) Neither 1 nor2 (b) Both 1 and 2
(c) Only 2 (d) Only 1

Which of the following cities is NOT part of the
Sunni Triangle in Iraq ?

(a) Tikrit (b) Ramadi

(c) Basra (d) Baghdad

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : The 73 Amendment of the
Constitution is considered to be a watershed in
the history of local self government in India.

Reason (R) : The 73"’ Constitution Amendment

conferred the much coveted Constitutional status

on Panchayats.

Select the correct answer from the code given

below.

Code :

(a) (A) is false, but (R) is true

(b) (A) is true, but (R) is false '

(c) Both (A) and (R) are true, but (R) is not
the correct explanation of (A)

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

Which Indian player has won the Gold Medal in

Men’s 200 mirs. Butterfly Swimming Event held

in Copenhagen in April 2022 ?

(a) Sandeep Sejwal (b) Sajan Prakash

(c) Sri Hari Natraj  (d) Sakshi Balkrishnan
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45.

46.

47.

48.

49.

50.

PCUX-1—22
frfafaa & ¥ fea e w o @A L Ce
(a9, 30.) o St F ifeas 5
R FA @R ?
(a)a’mimti(a_fhwawﬁm)

(b) ITE (A1)

(c) BRER (vra)

(d) IHIR (W)

w1y qarfe gu i @3 g d

(a) HTERIA (b) 3

(c) = (d I

< R gy 3 Rrofifes § ¥ SE-a/E
wea adt /% 7

L. o % T Ted g o wegfa o areft 98
WO NI HerHR o |

2. AU T T IAH TN FRIHH T F
et Tead e H g3 T |

2 R T g2 A TH IN F T HOA

w2

(@FM1T82 (b) 13 23t

(c) ¥aa 2 (d) Faa 1

Prafeifaa 3 & F-a1 TR [ § g o W

AR 7

(a) fefa (b) W

(c) w&T (d) TR

iR Q) w7 A W €, & B AEEH (A) 7=

TR F FAU (R) FE IR |

FRERA(A) : 73 S GRUH TR WRA & TR TR

¥ g 3 @ IR T F ¥ JE S |

FWU (R) ; 73 3 GRYA R 3 vora ® Hfa

anifra afyefre <ot wem e |

R M 3= A wdt T T AR

T

(a) (A) e &, ®g (R) ¥t R

(b) (A)®é &, 7eg (R) o &

(©) (A) 7 (R) A1 ot &, g (R), (A)H
wet =are T R

(d) (A) T (R) 3t wft & @ (R), (A) Ht @@
=T R

e 2022 ¥ HigRT § qEE H 200 WX

vy A Tyt ¥ wRa & Rew faedt ¥ @t

weH AR 7

(a) T HoETA

(c) *ft &R T

(b) HSH W
(d) aTaft WEFEEA



al.

52.

53,

54.

L

56.

Which one of the following dams is NOT in
Uttar Pradesh ?
(a) Badua

(c) Baghelkhand

(b) Adwa
(d) Ahraura

Which one of the following is NOT correctly
matched ?

Aluminium Plants Location

(a) Madras Aluminium - Chennai
Company Limited
(MALC&)

(b) Bharat Aluminium - Korba
Company Limited
(BALCO)

(c) Hindustan Aluminium -  Renukoot
Corporation Limited L
(HINDALCO)

(d) Indian Aluminium —  Hirakud

Company Limited
(INDAL)

Consider the following Political Parties and
arrange them in the chronological order of their
establishment.

I. Bahujan Samaj Party

II. Samajwadi Party
III. Telugu Desham Party
IV. All India Trinamool Congress

Select the correct answer from the code given
below.

Code :
(a) I, I, I, IV (b) I, I, IIT, IV
(c) ILIL LIV (d) LII IO, IV

Which of the following Rock Edict of Ashoka
speaks of religious synthesis ?

(a) Rock Edict — XI

(b) Rock Edict - XII

(c) Rock Edict — XIII

(d) Rock Edict —1II

The audit report of the Comptroller and Auditor
General of India is examined by

(a) Public Accounts Committee

(b) Public Undertaking Committee

(c) The Estimates Committee

(d) None of the above

Dudhwa National Park is situated in which of the
following districts of Uttar Pradesh ?

(a) Bahraich (b) Lakhimpur Kheri
(c) Pilibhit (d) Sitapur
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PCUX-1-2
51. fr=fafga 4 @ #9-w1 @& @iy W Rw &
TR
(a) Wgan (b) 3Ean
(c) TUTEE (d) Edu
52. frafafas & @ #-a1 o= o gafea w# ¢ ¢
vt va= saferf
(a) v wepfifem ot - 9=
fafiee (MALCO)
(b) Wi Tegrfifm et - FRan
fafiee (BALCO)
(c) fegem woyrifiam .
HURYA fefies
(HINDALCO)
) e wphfm st - dhge
fafiees (INDAL)
53. frafafea torfos oel w fer HiRR o 3
I7h] TG & FICHHAIAR Sqafeyd S |
L. W& wS i
II. §uTeaETed qrdt
II. A 39w ardt
IV. 3 $fem qome =g
2 A M F2 @ T I T A AR |
e
(@ IO I IL IV (b) I, I, ITT, IV
(c) OLIL LIV (d) LII, I, IV

54, frafafea ¥ @ s #1 S9-91 Ren ow aifs
FL (A=) F R T FEAT R ?

55. WRa % fa=es e qiys o anfee d =
wiigor wedt R
(a) W aan wivfa
(b) w ITHR wfa
(c) Srwe wfufa
(d) 3w & @ W T
56. ZUA1 U IUW I WeW & Fraferfaa & & few
I9e ¥ JafeE 7
(b) wEg Ett

(a) wEITH
(c) deiia (d) 'fmﬂ'ﬂ'(



57. Match List - I with List - 1

58.

59.

61.

B

and s ¢
answer from the code given belo:letl:;tlli‘:t: orrect
List - I List-I1
(Centre) (Indust
A. Osaka 1, Cigal:'s oy
B. Detroit 2. Ship building
c Cuba! 3. Cotton textile
D. St. Pittsberg 4. Automobile
Code :
A B C D
M4 3 2 1
1 2 3 4
@3 4 1 2

Match List—I with List — IT and select the correct
answer from the code given below the lists.

List -1
(Sustainable

Development
Goal (SDG))

A.SDG 1 . Climate change

B. SDG 13 2. Life on land

C. SDG 14 . Reduced inequalities
D. SDG 15 4, Life below water

Code :
A
(a1
(b) 2
©3
d) 3

C
3
1
4

—_Nw e

4

Arrange the following conquests of Alauddin
Khilji in chronological order.

1. Ranthambor
2. Gujarat
3. Warangal
4. Chittor
Select the correct
below :
Code :
@ 1,3,2,4
(c) 2- lv 4| 3

Which of the following material is

bio-degradable ?

(a) Glass bottle -
(c) Aluminium foil,+

r the ‘India State of Forest Report — 2021’

As

which of the following
maximum increase in the

last two years ?
(a) Kerala

) Assam
(c) Arunachal Pradesh (d)Andhra Pradesh /~

List - II
(Related with)

D

4
+J
1
2

answer from the code given

(b) 3,4,1,2
d) 4,231 |

(b) Plastic cups »~
(d) Wool

States has registered
forest cover during the
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58.

39.

6l1.

PCUX-1-22
57 — 19 gt — 1 ¥ gafere Hifd 7w gl &
ﬁﬁﬂﬂﬁﬁmﬁmgﬁw
-1 qeh -1
(%) (3um)
A. ArETH 1.
B. e 2. O fwior
C.wm 3. gt 7=
D. # Rzwwi 4 e
e
A B C D
(a) 2 1 4 3
w4 3 2 1
©1 2 3 4
@3 4 1 2
Tt — 19 gt - [0 R gifers R aon gt &
R A M F2 A T IH F 77 AR |
(we Rea @fta )
e (SDG))
A. SDG 10 1. ety qitad
B. SDG 13 2. qfa R SfiaA
C. SDG 14 3. FERFATHT | FH
D. SDG 15 4. 59 ¥ 9 =
Fe:
A BCD
@l 2 3 4
2 3 1 4
©3 2 4 1
@3 1 4 2
HARER faert H Frefafea faeat =
FIEHATIER safeqd i |
1. TR
2. T
3. IO
4. el
ﬁﬁinﬁﬁﬁmmwwﬂm
‘: 1,324 b) 3,4,1,2
&3 2,1,4,3 Ed) 4,2,3,1
frafefea & @ F-a1 wqf Ja-Frefiaefa ® 7
@ A A@ (b)) =fRs & *
(c) Tpiifam wiye  (d) A
R Ve e B fud - 2021' & IFER
frafafa & @ fvw o503 Rod ) oot & a1 8=
# aftmm gfa g hr d 7
(a) ¥ (b) @
(c) IwumTES (d) Y wRW

—,
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62. On the basis of ‘one district one product’

programme in Uttar Pradesh, which one of the
following pairs is NOT correctly matched ?

<+<(a) Gautam Buddh Nagar — Readymade

Garments

b) Amethi — Moonz Products
3) Agra — Leather Products
(d) Baghpat - Wooden Toys

63. Which country has natural arsenic water

65.

67.

68.

contamination ?
(a) Sri Lanka
(c) Bhutan

(b) Bangladesh
(d) Pakistan

ponsider the following events and arrange them
in chronological order.

I. Battle of Mudki
II. Battle of Porto Novo
III. Battle of Shakarkheda
IV. Battle of Bedara

Select the correct answer from the code given

Code :
A B C D
@Io mIv I
b)m v oI I
@Ivii o I
@I O o Iv
(si’:}pl!’a drug is which of the following types of
gaggﬁ‘tntiscptic gb) Analgesics
c) Antipyretic d) Antibacterial

According to ‘Global Business Cities Index’ of
January 2022, which of the following is the top
business city in the world ?

(a) Frankfurt (b) Hong Kong

(c) London (d) Paris

When was the Panchayats (Extension to
the Scheduled Areas) Act passed by Indian

Parliament ?
(b) 1996

(a) 1998
(c) 1995 (d) 1993

From which archaeological site of Indus Valley
Civilization, the figures or models of boat are

found ?
(a) Dhaulabira and Bhagatrav

(b) Harappa and Kotdiji
(c) Mohenjodaro and Lothal

(d) Kalibangan and Ropar
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62. IW N H TH TR Th I I ¥ 3w g
P gt & -a1 v ol o 4

() Mmgg M - Eieww
(b) it - ¥ % I
(c) ATRY - a4 IdTg
(d) srTIa - a5t % faeiy
63. fom <0 & Wil AR wgita 9ot fireran 3 7
(a) Hicisht (b) ETTERY
(c) g (d) wfFam
64. frafafgs gemai m AR FRR k. =)
FITHAIER Fafeqd HIR |
L 4EH *1 I
II. 9 a #1 gg
I &S H1 I3
IV. ¥ 1 I2
= A ™ g2 & Tt I T FRA
He:
A BCD
@O0 ImIvV I
b)yor 1Iv o 1
@IV II IO I
(I O oIV
65. wew g, Frefafea & @, frm s & shwdt @ 7
(a) whemeht (b) dgrerdt
(c) satmeht (d) wfesfrars

66. A 2022 % A HEEIAH T GEEE 9
FER Pt # ¥ S-w ww R &
=TS TR 7
(a) howé (b) & =i
(c) o= (d) ¥

67. T i g % GRI YR (T g deges )
F Fa TRa fwr mn ¢
(a) 1998 # (b) 1996 %
(c) 1995 % (d) 1993 %

68. ﬁqmﬂﬁm%ﬁmmﬂ#ﬁ*h’
Taca A R ¥ ?
(a) et w& W
(b) &= GE wief¥sh
(c) WETSieet e i
(d) wrefem 3k A



69.
70.

71

72,

73.

74.

715.

Which one of the fol] i
of big-mass energy Sourced* NOT an example

Ez Gobar (Dung) {3}

Wood
Which among the following j :
mineral of Pegy YINE 1S an important
(2) Mineral §il s ("g)g'%'.‘ of Myanmar ?

(c) Copper (d) S;II:mr
In which of the followin
carburetor is used ?

(a) Both diesel and petrol engines
(b) Steam engine

(c) Petrol engine

(d) Diesel engine

Nuclear energy

& types of hcat engines

Who among the following has become the first
woman President of Tanjania in April 2022 ?
(a) Ellen Johnson

(b) Sahle-Work Zewde

(c) Samia Suluhu Hassan

(d) None of the above

Keibul Lamjao National Park is located in
which lake ?
(a) Loktak
(c) Wular

(b) Dal
(d) Kolleru

Consider the following statements about farm
subsidies in India.

1. The input subsidies in India, such as
on fertilizers fall under indirect farm
subsidies.

2. Reduction in power and irrigation bills
offered to farmers fall under direct farm
subsidies.

3. The agricultural provisions of the World
Trade Organization (WTO) though allow
direct farm subsidies, prohibit indirect
subsidies.

4. All subsidies provided by the governments
in India fall under the indirect subsidies.

Select the correct statements using the code given
below.

Code :
(a) 1and 4 (b) 3and 4
(c) 2and 3 (d) land2

What is the name of the test for undergraduate
admission in Central Universities Single Window
Admission for 2022 -23 7

(a) CUAT f (b) CUCET

(c) CUET (d) UAET x

69.

10.

71.

T2,

73.

74.

T3

PCUX-1-22
e A A Pr-m i S aa @R 7
(a) Fgen (b) qTATY] Sl
(c) T (d) &

TR W] e 8 fen @l o g I 7
(a) TF= A= (b) fea

(c) dtan (d) =&

frafafiga s % Fer foHl § @ st =
wam forenl e smar 2 7

(a) 3 g 7o ket o

(b) WY T

() 3 oM

(d) &=t S

adte 2022 # Prafofaa # @ % donfvan H vzt
wieen e (Sefide) o @ 7

(a) T A=A

(b) TEX T I

(c) wfvan gog &a

(d) 35w & @ #§ 7
%agmshmmﬁqﬁrmﬁ%ﬁm
o d EfRme ?

(a) HHTH (b) ==

(©) TN (d) P

" 3 HivaT § g2t (wrl ek ¥ wf & P

FYA R =R fifdd |

1. YR ¥ $ge wfeld A Id W & IR e,
AT B Fiekd ¥ wia R R |

2. forar =t foerch o R w & oF h
AT wer wrt |t ¥ Fria st R |

3. fava =R WA (s da.) F SR
Tt yEauE Wy e afendt i amfa
3 &, g Ivew SRt w s wm #

4. WA ¥ G g & IR areht ot afeufat
vy Aft F e R

R A ™ fe N vrmar @ 7@ T\ W T=
$ifR

L T4
(a) 19w 4 (b) 3w 4
(c) 2@ 3 (d) 1712

i 2022 - 23 ¥ ¥ Rt § wes &
FREE R R s s am R 7
(a) HEd (b) €A

(c) W (d) &



575

76. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A) : A solution of table saltin a glass
of water is homogeneous.

Reason (R) : A solution having different

composition throughout is homogeneous.

Select the correct answer from the code given

below :

Code :

(a) (A) is false but (R) is true

(b) (A) is true but (R) is false

(c) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

77. Match List —I with List — IT and select the correct
answer from the code given below the lists.

List-1 List - II
(Newly Elected (State)
Presiding Officer of
Yidhan Sabha)

A. Ramesh Tawadkar ——1. Goa
B. Kultar Sandhwan———_ 2. Punjab
C. T. Satyabrat ——— 3. Manipur

D. Ritu Khandari— 4. Uttarakhand

Code :

A B C D
@2 3 1 4
)1 4 3 2%
©3 2 4 1X
@1 2 3 4

78. T. Malthus propounded one of the most famous
theories, called ‘The Malthusian Theory’ which
is related to

(a) Economy

(b) Population

(c) Unemployment
(d) Poverty

79. The first Interim National Government was
announced on
(a) 25 August 1946
(b) 24™ August 1946
(c) 23";August 1946
(d) 22" August 1946
80. Inwhich of the following stupas, the features of a
plateform with ‘Aryak-Pillars’ are found ?
(a) Nagarjunikonda (b) Ghantshal
(c) Amaravati (d) Bodhgaya
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77.

78.

19,

80.
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PCUX-1-2

ZA N FA (R) FE TR |

W(A):mﬁammﬂﬁmwu}am
|

w0 (R) : R A & faftra &e aren oy g

L

o R M g } 9@ I T il

e

(a) (A) e ® T (R) Tl B

(b) (A) T& & 9g (R) Tera &

(c) (A) 3 (R) Sl @&t & W (R), (A) $ wdt
=T T8 8

(d) (A) 3 (R) IF1 7&t & 3R (R), (A) i vt
I

T — 1 = gt — 1@ gafera HiR aon gl &

= fod 1 52 @ gt IR | :
et - I gt - 11

(Ramewn & 1a (=3)

fraifm sreme)

A. WY qEgH 1. T

B. $qR TEH 2. U9

C. &. g 3. TR

D. fiq @verdt 4. ITES !

T‘::A B C D

@2 3 1 4

1 4 3 2

V8 BAA o1

@1 2 3 4

3. wredd A @ Aoy @’ A vihs e
=1 wfowfea fawan, st wafa R

oW R T FR i aigon & T A
(a) 25 3T 1946 &
(b) 24 3T 1946
(c) 23 3T 1946
(d) 22 T 1946 ®

Preeferfirm # @ for wqu  ‘arde-w T
i Rrdrward frerht & 7

(a) TTTIRIvE
(c) FwTad

(b) "N
(d) wramn B

A .



8l.

82.

83.

84.

85.

86.

According to the annual ‘Frontier Report -2022°
released by U. N. Environment Programme
which Indian city has become the second mosi

noise polluted city of the World 9

(a) Kota (b) Moradabad
(c) Indore (d) Pat;: L

On which date Ozone Day is observed 9

(a) October 2 (b) September 16
(c) April 29 (d) Jarl:uary 3(r)

Who retumed the ‘Kl}ighthood’ title to the British
Government in reaction against Jalianwala Bagh
Massacre ?

(@) Md. Ali Jinnah

(b) Rabindranath Tagore

() Rameshwar Singh

(d) Shankaran Nair

‘Who was the founder of ‘Satyashodhak Samaj’
having its primary emphasis on the seeking of
truth ?

(a) Tarabai Shinde

(b) M. G. Ranade

(c) Jyotiba Phule

(d) Raja Ram Mohan Roy

Match List — I with List — IT and select the correct
answer from the code given below the lists.

List -1 List - II
(Waterfalls (Location)
of India)

A. Dudhsagar 1. Karnataka
B. Barkana 2. Odisha
C. Khandadhar 3. Himachal Pradesh
D. Palani 4. Goa
Code :

A B C D
@3 2 4 1¥
® 4 3 2 1
c1 2 3 4
@4 1 2 3

Eco mark is given to a product which is
(a) Un-adulterated

(b) Economically viable

(c) Environment friendly

(d) Rich in carbohydrate
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gt - 1 gt - 11 @ gafera AR oo gt &
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A. QUETR 1. FAle®
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A B C D
@3 2 4,1
® 4 3 2 1
©1 2 3 4
@4 1 2 3
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(a) I fremae e @
(b) I aRfE w7 ¥ wEw W
(c) I wafaww A fera &
(d) foredt wratarede wag wEn & B
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87. Which one of the following nair i< N¢
matched 7 ol owing pairs is NOT correctly

(a) Ishanverman - Harha stone
inscription
(b) Sarvaverman — Gaya Copper Plate
() Jivit Gupta — Second — Deva Barnark
inscription
-~ Jaunpur stone
inscription
ing mammals lays eggs ?

()] Ishwarverman

88.  Which of the follow
() Hedgehog~t*  "(b) Loris
(¢) Echidna (d) Kangaroo ar
89. Match List—1I with List —II and select the correct
answer from the code given below the lists.

List - List - IT
(Schedule) (Subject)

A. Third Schedule 1. Allocation of seats
in the Council of

States
B. Fourth Schedule 2. Forms of Qath or
Affirmations
C. Seventh Schedule 3. Languages
D. Eighth Schedule\. List of subject
matter of laws to
be made by the
Parliament and by
State Legislatures
Code :
A B CD
@4 3 1 2
)3 4 2 |
L/(‘) 2.0 4 .3
d1 2 3 4

90. Match List - I with List—II and select the correct
answer from the code given below the lists.

List -1 List - II
(Persons) (Associated works/
Posts)
A. D.K. 1. Establishment of
Girls School in
Calcutta
B. J. E. D. Bethune2. Secretary, Widow
Re- marriage
Association
C. Ishwar Chandra - 3. Starting a '
Vidyasagar crusade against
child marriage
D. B. M. Malabari__4. Principal of Sanskrit
College in Calcutta
Code :
A B CD
@l 2 4 3+
2 1 4 3%t
)2 1 3 4
b1 2 3 4

Vay
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ﬁm@gamsﬁmmﬁ*
gt - I -1

(srgsh) (Rrwa)
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H 1 A

B. 9gd g 2. W99 T yiogw %
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C. ardt e 3.

D. e gt 4, :?z‘zammﬁm
HUSA gRT TR TR
et faftet 6 Aw

f ™

A B C D

@4 3 1 2

®3 4 2

©2 1 4 3

@1 2 3 4
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wR & Ed
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A B CoDpD

@1 2 4 3

®2 1 4 3

©2 1 3 4

d1 2 3 4




91.

92.

93.

With reference to Western
of the following stateme
1. Western region of

Uttar Pradesh, which
nts is/are correct 7
U.P. is much more

developed compared to othe i
P! . r regions
2. The region has witnessed th '
Revolution. i
| t N
g:llgcw :the correct answer from the code given
Code :
(2) Neither 1 nor2 (b) Both 1 and 2
(c) Only 2 (d) Only 1

Which one of the famous buildings of New

Delhi has been converted into Prime Ministers’
Museum ?

(2) Vigyan Bhavan

(b) India Habitate Centre
(c) Teen Murti Bhavan
(d) Talkatora Stadium

Match List— I with List — IT and select the correct
answer from the code given below the lists.

List -1 List - II
(Committee) (Year of
Appointment)
A. Balwant Rai 1. 1957
Mehta Com‘rgly
B. Ashok Meh 2. 1977
Committee .
C. L. M. Singhvi 3. 1986
Committee
D. P. K Thungun 4. 1988
Committee
Code :
A B C D
J,(j 4 1 2 3
1 2 3 4
)2 3 1 4
@3 4 2 1

With reference to ecological niche, which of the
following statements is/are correct 7 _
1. It represents the range of cond'lt_lons that it
can tolerate the resources it utilizes and its
functional role in ecological .s»);lstem.
‘ h species has a distinct niche. ‘
S:legafhe cl:):rrect answer from the code given

below :

Code :
(a) Neither 1 nor2  (b) Both 1 and 2
(c) Only 2 (d) Only 1
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95.

96.

97.

98.

100.

From which Place Jayata and Kumpa were

associated who Impressed Shershah with their
valour ?

(a) Bundelkhand
(¢) Marwar

Which reli ious %roup in India has its highest
urban population

(a) Hindu b) Bauddh
(c) Christian Ed; Ja?:

Which of the following three States of India were top
performing States under "NITI Ayog’s State Energy
and Climate Index" declared on o™ April 2022 7
(a) Manipur, Tripura, Mizoram ~*

(b) Tamil Nadu, Kerala, Karnataka

(c) Gujarat, Kerala, Punjab

(d) Punjab, Uttar Pradesh, West Bengal «

Consider the following cities of Uttar Pradesh
and arrange them in descending order in terms
of their population.

I. Ghaziabad

II. Kanpur
III. Agra
IV. Lucknow

Select the correct answer from the code given
below :

(b) Malwa
(d) Mewar

Code :
(a) OLIL I, IV (b) I, I, IV, IO
(c) ILIV, I, III (d LIL I, IV

Who is the record holder for single longest
space flight by ‘NASA’ astronaut abroad the
International Space Station ?

(@) Anton Sheaplerov
(b) Pyotr Dubrov

(c) Mark Vande Hei
(d) None of the above

Consider the following subjects and arrange
them into sequential order as mentioned in the
Constitution.

L. The union and its territory

II. Fundamental duties
III. Citizenship :
IV. Directive Principles of State Policy
Select the correct answer from the code given
below.

Code : .
(a) I, IV, L, 11 () LIL IV, I
(c) OL L IL IV (d IV, IL, I, 1

9s.
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102.

103.

104.

105.

106.

107.

B

(a) Operation Godawarj
(b) Operation Himalaya
(¢) Opcration Yamuna
(d) Operation Ganga
Which of the followin
gas ?

(a) Argon
(c) Methane

8isNOT a green house

(b) Chlorofluorocarbon
(d) Carbon dioxide
Consider the following events of

Aurangzeb and arrange them in ¢
order :

1. Battle of Deorai
2. Defeat of Shuja near Banaras
3. Battle of Samugarh
4. Victory at Dharmat
Select the correct answer from the code given
below.
Code :
(a) 2,4,3and 1
() 3,4,2and 1

the reign of
hronological

(b) 1,3,4and 2
(d) 4,2,1and3

Which State of India has launched the country’s
first digital water data bank ‘Aquarium’ for clean
water and water security in April 2022 ?

(a) Karnataka (b) Uttar Pradesh

(c) Punjab (d) Tamil Nadu

The atmosphere of Saturn contains which one of
the following gas in large quantity ? .

(a) Sulphur dioxide (b) Carbon monoxide
(c) Methane (d) Nitrogen

Kara Kum desert is situated in which of the
following countries ?
(a) Turkmenistan
(c) Kirgistan

(b) Tajikistan
(d) Kazakhstan

The dengue fever is caused by the bite of which
of the following mosquitoes ?

(a) Asian tiger mosquito

(b) Aedes

(c) Culex
(d) Anopheles
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108. Match List — I with List = IT and select the correct
answer from the code given below the lists.

List -1 List - II
(Text) (Writer)
A. Ragmala 1. Somnath
B. Rasakaumudi 2. Venkatraman
C. Ragvivodh 3. Pundrik Vitthal
D. Chaturdandi Prakashika 4. Srikanth
Code :
A B CD
o) L2304
®):2 4.3 1
©4 2 1 3
@3 4 1 2
109.  Which of the following pairs is NOT correctly
matched ?
Quantity S. L. Unit
(a) Activity of radio-
active substance = — Curie
(b) Power of lense -  Diopter
(c) Heat - Joule
(d) Pressure —  Pascal -

110.  Match List - I with List - IT and select the correct
answer from the code given below the lists.

List -1 List -1I
(Bio-reserve (State)
Sector)
A. Manas 1. Madhya Pradesh
B. Sundarb 2. Uttar Pradesh
C. Nanda Devi . Assam
D. Pachmarhi . West Bengal
Code :
A B CD
(@ 21,7304
b 4 3 2 1
€)1 2F 3F-4
Jd) 3 4 2 1

111.  Which one of the following is NOT a ‘Sustainable
Development Goal’ (SDG) target to be achieved
by 2030 ?

(a) Space Research (b) Quality Education
(c) Gender Equality (d) Zero Hunger

112. Famous ‘Ruhr coalfield’ is situated in which of
the following countries ?

(a) Great Britain (b) Germany
(c) Russia (d) France

PCUX.1 - 3,
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113. Compressed Natural Gas (CNG) is mainly

composed of
(a) Methane Eb} Propane
(c) Ethane d) Butane

114. Match List — I with List — II and select the correct
answer from the code given below the lists.
List-1 List-1I
(Ocean) (Maximum Deepest Point)
A. Pacific 1. Sunda Trench
B. Arctic %2. Puerto Rico Trench
C. Indian 3. Mariana Trench

D. Atlantic 4. Molloy deep
Code :
A B C D
@4 3 2 1F
3 2 -1 _4
1 2 3 4+
3 4 1 2

115. In the context of permissible noise level match
List — I with List — IT and select the answer from
the code given below the lists.

List-1 List-1I
(Area) (Permissible
Noise Level)
A. Residential area 1. 50db
B. Silent zone 2. 55db
C. Industrial area 3. 65db
D. Commercial area 4. 70db
Code :
A B CD
@2 1 3 4
b 3 4 2 1¥
2 1 4 3
d1 2 3 4y

116. Which one of the following did NOT serve as

Vice President before assuming the office of the

President of India ?

(a) Dr. Shankar Dayal Sharma

(b) Neelam Sanjiva Reddy

(c) Dr. Zakir Hussain

(d) R. Venkatraman

117. Match List—I with List —II and select the correct
answer from the code given below the lists.

List-1 List - II

(Newspaper/Magazine) (Place of publication)
A. Swadesh 1. Agra
B. Bharat Bandhu 2. Almora
C. Satyawadi 3. Hathras
D. Shakti 4. Gorakhpur
Code :
A B CD
@3 2 1 4
b4 3 1 2
©2 3 4 1
@1 2 3 4
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118. Which of the following statement(s) is/are correct

119.

120.

121.

122.

about ‘Make in India’ Programme ?

1. ‘Make in India’ Programme was launched
in the year 2014.

2. It aims at encouraging companies for
manufacturing in India and facilitating
investment. _

Select the correct answer from the code given
below.

Code :
(a) Neither 1 nor2 T (b) Both 1 and 2
(c) Only 2 (d) Only 1 ¥

With reference to the BIMSTEC, which of the
following statements is/are true ? "
1. P. M. Narendra Modi addressed the 5
BIMSTEC Summit on 30" March, 2022.
2. 5% Summit of BIMSTEC had been chaired
by India.
Select the correct answer from the code given
below :

Code :
(a) Neither 1 nor2 (b) Both1and2 ¥
(c) Only 2 ¥ (d) Only 1

The idea of ‘Rurbanization’ was elaborated by
which one of the following sociologists ?

(a) M. N. Srinivas  (b) Yogendra Singh

(c) G. S. Ghurye (d) H. Spencer
The main purpose of ‘Ganga Action Plan’ project,
launched in 1985, was

(a) Make its water pollution free only

(b) Utilize the river water for irrigation only b

(c) Build new dams over the Ganga rivcﬁﬁ
valley

(d) None of the above

Match List — I with List — IT and select the correct
answer from the code given below the lists.

List-1 List - 11

(God) (Symbol)
A. Shiva 1. Chakra
B. Vishnu 2. Trident
C. Ganesh 3. Veena
D. Saraswati 4. Rope or noose
Code :

A B C D

@ 1 2 3 4
b 4 3 L. 2
) 3 2 1 4
d 2 1 4 3
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123.

124.

125.

126.

127.

Match List —I with List —II and select the correct
answer from the code given below the lists.

List -1 List - 11

(Trade Unions) (Party Affiliation)

A. Bhartiya Majdoor /1. Indian National
Sangh Congress

B. Indian National [ 2. Communist Party
Trade Union of India
Congress

C. United Trade 3. Communist Party
Union Congress of India (Marxist)

D. All India Trade / 4. Bhartiya Janta
Union Congress Party

Code:
A B CD

@2 4 3 1

®)3 2 1 4

1 3 2 4

@4 1 3 2

What is ‘Party Gate Scandal of United Kingdom’ ?
Itis
(a) Relates to illegal funding made to political
parties in U.S.A. and U.K.
(b) Relates to flouting of Covid-19 norms by
British P.M.’s Office
(c) Relates to labour party flouting the norms
of Parliamentary behaviour
(d) Relates to conservative party flouting
norms of Democratic behaviour

Which one of the following is the targeted group
under the ‘Pradhan Mantri Swanidhi Scheme’ ?
(a) Landless agricultural labourers

(b) Marginal farmers

(c) Street vendors

(d) Dairy farmers

With reference to Borneo Island, located in South-
East Asia, which of the followmg statements is/
are true ?

1. It is divided amons three countries.

2. It has been formed due to volcano deposition.
Select the correct answer from the code given
below :

Code :

(a) Neither 1 nor2 (b) Both1 and 2

(c) Only 2 (d) Only1

Which one of the following pair is NOT correctly
matched ?

(a) Neoprene - Specialized rubber

(b) Aspartame - Synthetic sweetenerv
(c) Oxytocin - Hormone

(d) Rayon — Modified starch
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128. Who was_the founder of ‘Hindustan Socialist
Democratic Union’ ?
(a) Vyomesh Chandra, Gopen Chakravartee,
Sacheendra Sanyal
(b) Gopen Chakravartee, Faneendra Banerjee,
Dharnee Goswami
(c) Vyomesh Chandra Banerjee, Ajay Ghosh,

Sacheendra Sanyal
(d) Yateendranath, Ajay Ghosh, Phanindranath

Ghosh
The demographic dividend is
(a) Working population of above 60 years
(b) Working population of 14 to 50 years
(c) 0 - 6 years population y
(d) Working population of 15 to 59 years

Match List — I with List — II and select the correct

129.

130.
answer from the code given below the lists.
List-1I List-1I
(Hill!Mountain) tion in State
of India)
A. Bateshwar Hil . Haryana
B. Bilari Rang . Manipur
C. Chin Rang . Bihar
D. Dhoshi Hil 4. Karnataka
Code :
A B D
@2+ F At
w3 2 4 1
©3 4 2 1
@4 3 1 2

By which amendment of the Constitution, ‘Delhi’
has been made National Capital Region ?

@ 75" ®) 73"

© 70" @ 69"

erted into electric energy

131.

Solar energy is conv
through

(a) Dry cells

(b) Leclanché cells
(c) Voltaic cells

(d) Photo voltaic cells

Who among the following have signed the
agreement to resolve Assam — Meghalaya border

March 2022 ?
of India and Chief

Secretaries of Assam and Meghalaya

(b) Home Secrctarr of India and Director
Generals of Police of Assam and
Meghalaya

(c) Chief Ministers of Assam and Meghalaya

(d) Union Home Minister, Chief Ministers of

Assam and Meghalaya

132.

133.

128.

129.

130.

131.

132.

133.
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134. Which of the following is NOT a fundamental
duty ?
(a) To protect monuments and places of
national importance
(b) To protect and improve the natural
environment
(c) To safeguard public property
(d) To respect the National Anthem

PCUX-1-22

134, Freafofea & @ S-a1 & M sder @ & 7
(a) TS HEca & WR! 3 7w} hY @7 FRAT
(b) Wk FTaTaRwl Y T ©E da HET
(c) ardfi wwafn #t goam H
(d) U &1 991 AT

135, T - 19 gt - 12 gifers SR 7o gt &

135. Match List - I with List — IT and select the correct
answer from the code given below the lists.
List-1I List -1
(Officer) (Duty)
A. Talar 1. Guard of Octroi
B. Pattakola 2. Officer of cases of
Dacoity
C. Sahsadhipati 3. Officer of Night
Guards
D. Baladhip 4. Village Tax Collector
Code :
A B C D
(@ 1 2 3 4
® 2 1 4 3
c) 4 3 1.2
d 3 4 2 1
136. Match List—I with List—II and select the correct
answer from the code given below the lists.
List -1 List - IT
(Revolution) (Related with)
A. Golden Revolution 1. Oil seed production
B. Grey Revolution 2. Horticulture and
Honey
C. Yellow Revolution 3. Petroleum
production
D. Black Revolution 4. Fertilizers
Code :
A B C D
@22 4 1 3
w2 3 4 1f
1 2 3 4%
4 2 1 3 T
137. Which one of the following is a land locked
country ? .
(a) Uruguay ¢ (b) Surinam
(c) Peru £ (d) Bolivia
B 27

fe o2 M e @ wdt s g |
et -1 ot - 11
(srfirmTdl) (Td)
A. TR 1. 9t =1 g
B. WA 2. |-zt % gwen #
At
C. weaftefe 3. ufy gkl & el
D. w=fYy 4. Aol IR A FA T
rftrprdt
L T
A B C D
@ 1 2 3 4
Gy 4 3
a3 1.2
@ 3 4 2 1
136. ¥t L geft — 1 & gafera AR a1 giei %
3 Rk 32 @ W I w1 T AR |
Lol 3! et -1
mi%:) (wafa )
A. Tiesg s 1. foetga Iewren
B. 2 1] 2. PTEHY T e
C. dieft smf=r 3. Wgiferm Ieare
D. %1t (%) wif 4. I
T
A B C D
@2 4 1 3
2 374 1
©1 2 3 4
@4 2 13
137. Peffm it Pia w v em gt 7
(a) ST A (b) gt
(c) % (¢) Wi
\
i



138. The earth atmosphere is mainly heated by which

139.

140.

141.

142.

143.

144.

one of the following ?

(a) Long wave terrestrial radiation
(b) Scattered solar radiation

(c) Reflected solar radiation

(d) Short wave solar radiation

Most of the sources of energy we use, represent
stored solar energy. Which of the following is NOT
ultimately derived from the sun's energy ?

(a) Biomass energy (b) Nuclear energy
(c) Wind energy (d) Geothermal energy

As of early 2022, which country was at the top
in steel production in the world ?

(a) China (b) Japan
(c) England (d) India
Which one of the following is NOT correctly
matched ?
Lok Sabha Election Year
(@ 13" - 1999
®) 1" - 1996
© 9" - 1989
@ ™ - 1982
Which one of the following is correctly matched ?
(a) Gujarat — Tea
(b) Uttar Pradesh - Jute
(c) Kerala — Rubber
(d) Assam —  Wheat

United Nations Development Programme
(UNDP) has identified following categories of
poverty. Which one is correct ?

(a) Income poverty (b) Human poverty

(c) Both (a) and (b) (d) None of the above
.Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A) : Rainfall occurs in the winter
season in mediterranean climate.

Reason (R) : In summer these regions remain

under the influence of dry terrestrial winds.
Select the correct answer from the code given

below :

Code : :
(a) (A)is false but (R) is true

(b) (A) is true but (R) is false
(c) Both (A) and (R) are true but (R) is not the

correct explanation of (A)
(d) Both (A) and (R) are true and (R) is the

correct explanation of (A)

138.

139.

140.

141.

142.

143.

144.

Mmmﬁﬁnﬁrﬁ!ﬂﬂﬁw s m
raga 7

() & o e ffe

(b) o fafdeo

) agmtﬂtﬁm
mammaaaﬁa@witmmm
mﬁwﬁﬁﬂﬁmtlﬂuﬁfmﬁﬁmm
m:qiﬂ-ﬁ?ﬁqmﬂmn

(a) W S (b) i St

(c) TE Tl (d) Fat

af 2022 % S & -8 20 P I A o
# gad SR @ 7

(a) < (b) S

(c) ¥18 (d) wRa

maamwm@ﬁmwu
wrma e T

(a) ¥edt - 1999

(b) @rEdt - 1996

(c) 7t - 1989

(d) wredf - 1982

Prfrfaa & & F7-91 T 96 gk & 7

(a) TR - 9d

(b) IWFA -

(c) ¥ - s

(d) I\m - M

s T, e sriEn (@A 6) 3 fada

gf;qﬁham:ﬁmnﬁg | PR-NE
?

(a) 3@ Frdan (b) wra Rk

(c) (a) T (b) At (d) wgﬂiﬁas‘fiwﬂ

43 2 Tw P M, T B e (AT

®ro (R)
wEadw f
ﬁ_ﬂi@wammmmmz

w:
(a) (A) era § wog (R) W R

(b) (A) vt & g (R) e R o
(©) (A) 7 (R) o1 et & weg (R), (A) P

(A)aaﬂ

e T R
(d) (A) 7w (R) 2t weh & 3k (R),
= R




145.

147.

148.

149.

150.

*Jal Jeevan Mission’ Scheme was declared in the

PCUX-1-22

145. vt < e’ draen form feeftg o & Sheii a9
Union Budget of which Financial Year ? # ot 6 oft 7
(a) 2021 —-22 (b) 2022-23 (a) 2021 -22 (b) 2022 -23
(c) 2020 -21 (d) 2019-20 (c) 2020-21 (d) 2019-20
146. Which Mughal ruler patronaged Kavindra | 146. fa gme wmoss Y woma & TG 3 fet & e
Acharya Saraswati of Banaras, a great scholar fem Ffa e awEd ) tedg & ITE
of Sanskrit and Hindi ? frm a7
(a) Shahjahan (b) Jahangir OR T (b) B
(c) Akbar (d) Humayun (c) FFa (d) T
On which date ‘Uttar Pradesh Day’ is 147. ‘I wew Rew’ fra fafy =t s e @ 7
celebrated ?
(a) 26" January  (b) 25™ January (a) 26 5l (b) 25l
(c) 24% January  (d) 23" January (c) 24 St (d) 23 ad
Sinovac given for Covid-19is a 148. Ff¥e-19 F fog femn 9= aren R 2
(a) Protein sub-unit (a) N I9-318
(b) Non-replicating viral vector (b) N-wfeepler amre Avex
(c) Whole virus vaccine (c) Tqul aRE 1 S
(d) mRNA vaccine (d) THARTET JdH
With reference to Common Wealth Games | 149. 2022 3 2026 & Wfad UgAvSH Wil & <A
Scheduled in 2022 and 2026, which of the % freffea i d fR-a/a s ad /8 ¢
following statements is/are correct ?
1. Common Wealth Games will be held in 1. IO - T 2022 & TZHUSH WAl H
Birmingham (England) in July — August o e wfiy (fefe) § oo
2022.
2. Common Wealth Games will be held in 2K2026 % TgvSe it 1 i fdifen
Victoria (Australia) in 2026. (areferan) & g |
ts)::::c‘:: .the correct answer from the code given 2 ol = T T H T B -
Code : o )
(a) Neither Lnor2  (b) Both 1and 2 @FEA1TI®2 (b)) 17w 23
(c) Only 2 (d) Only 1 (c) et 2 (d) ¥aa 1
The Union Ministry of Environment, Forests | 150. %= wafewul, a9 wd Joay YRadd w=red,
and Climate change, Government of India Wi TR A Tfee 3 TR A S 2
has announced ‘Dolphin Day’ which will be N S
celebrated on JPr o
(a) April 15 (b) October S @ L (b) 5 3T
(c) July 15 (d) October 28 (©) 15 Fo8 W (d) 28 W M
-
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|
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